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Seat No.: ________                                                           Enrolment No._______ 

GUJARAT TECHNOLOGICAL UNIVERSITY 
Diploma Engineering - SEMESTER–II (CtoD) • EXAMINATION – SUMMER • 2014 

 

Subject Code: C320903 Date: 26-06-2014        

Subject Name: D. C. CIRCUIT 

Time: 10:30 am - 12:00 pm     Total Marks: 70 
Instructions: 

1. Attempt all questions. 

2. Make suitable assumption wherever necessary. 

3. Each question is of 1 mark. 

4. Use of SIMPLE CALCULATOR is permissible. (Scientific/Higher Version not allowed) 

5. English version is authentic. 
 

No. Question Text and Option 

1. 

When the length of wire is increased to 4 times and its diameter is doubled, its 

resistance  

A. Will become four times B. Will become doubles 

C. Will not change D. Will become half 

2. 

1 MΩ =  

A. 10
10

 B. 10
9
 

C. 10
6
 D. 10

3
 

3. 

For how many hours a 100 W lamp should be used so that 1 unit enery is consumed? 

A. 1 B. 10 

C. 100 D. 1000 

4. 

A wire has a resistance of 12 ohms. It is bent in the form of a delta. The effective 

resistance between two corner is 

A. 6 ohm B. 2.67 ohm   

C. 26.67 ohm D. 26 ohm 

5. 

1 kWh = _________ calories. 

A. 4186 B. 4.186 

C. 860 D. 30 X 10
5
 

6. 

If the current in an electric bulb drops by 2% then power decreases by 

A. 1% B. 2% 

C. 4% D. 16% 

7. 

The unit of magneto motive force is 

A. Weber B. ampere/meter 

C. Henry D. ampere-turn 

8. 

Which of the following quantity maintains the same polarity during charging and 

discharging of a capacitor. 

A. capacitor voltage B. resistive drop 

C. capacitor current D. none of the above 

9. 

The capacitance of a capacitor is _______________ relative permittivity. 

A. directly proportional to B. independent of   

C. inversely proportional to D. directly proportional to square of  

10. 
Area of hysteresis loop 

A. Shows only hysteresis loss B. Shows only eddy current loss 
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C. Shows both the hysteresis and 

eddy current loss 

D. Is less when hysteresis loss is more. 

11. 

The most convenient way of achieving large capacitance is by using 

A. Multiplate B. decreased distance between plates 

C. air as dielectric D. dielectric of low permittivity 

12. 

A capacitor opposes 

A. change in current B. both change in current and voltage 

C. change in voltage D. Any one of current or voltage 

13. 

The capacitance of a parallel-plate capacitor does not depend upon 

A. area of plate B. separation between plates 

C. medium between plates D. metal of plates 

14. 

Newton/coulomb is the unit of.............. 

A. Electric charge B. Electric flux 

C. Electric flux density D. Electric field intensity 

15. 

When an R-C circuit is suddenly connected across a d.c. voltage source, the initial rate 

of change of  capacitor current is  

A. -Io /  B. Io /  

C. V/R D. –V /  

16. 

The relation between D and E is given by the expression 

A. D= o r E B. E= D/ o r 

C. E= o r D D. both (a) and (b) 

17. 

A current of 4.8 A is flowing in a conductor. The number of electrons flowing per 

second through the conductor will be 

A. 3 x 10
19

 electrons B. 76.8 x 10
20

 electrons 

C. 7.68 x 10
20

 electrons D. 3 x 10
20

 electrons 

18. 

A 25 W, 220 V bulb and 100 W, 220 V bulb are joined in parallel and connected to 

220 V supply, which bulb will glow more brightly?  

A. 25 W B. Both 

C. 100 W D. none of the above 

19. 

Two resistors A and B have resistances RA and RB respectively with       RA< RB. The 

resistivities of their materials are ρA and ρB. Then, 

A. ρA > ρB B. ρA = ρB 

C. ρA < ρB D. Information insufficient 

20. 

There are three bulbs of 25 W, 40 W, and 60 W. which of them has the lowest 

resistance?  

A. 25 W B. 60 W 

C. 40 W D. Information incomplete 

21. 

An air capacitor has the same dimensions as that of a mica capacitor. If the capacitance 

of mica capacitor is 6 times that of air capacitor, then relative permittivity of mica is  

A. 36 B. 12 

C. 3 D. 6 

22. 
A parallel arrangement of 3 ohm and 6 ohm resistors in series with an 8 ohm resistor. 

If p.d. of 60 V is connected across the whole circuit, the current in the three ohm 
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resistor is  

A. 6A B. 2A 

C. 4A D. 10A 

23. 

Four wires of equal length and of resistance 20 ohm each are connected in the form of 

a square. The equivalent resistance between the two opposite corners of the square is 

________. 

A. 10 B. 40 

C. 20 D. 20/4 

24. 

Equivalent current source of 20 V, 4 Ω voltage source is  

A. 20 A, 2 Ω B. 20 A, 4 Ω 

C. 5 A, 4 Ω D. 5 A, 2 Ω 

25. 

A man has three resistances, each of value 1/3 ohm. What is the minimum resistance 

he can obtain by combining them? 

A. 1 ohm B. 1/6 ohm 

C. 3 ohm D. 1/9 ohm 

26. 

Three 3 ohm resistors are connected in the form of an equilateral triangle. The total 

resistance between any two corners is 

A. 2 ohm B. 3 ohm 

C. 6 ohm D. 4/3 ohm 

27. 

E. M. F. In a circuit  

A. Increases circuit resistance B. Decreases circuit resistance  

C. Maintains potential difference D. None of the above 

28. 

Potential difference has the unit of  

A. Charge  B. Power 

C. Energy D. None of the above 

29. 

Conductivity is the reciprocal of  

A. Current density B. Resistance  

C. Resistivity D. None of the above 

30. 

The specific resistance of a metallic conductor _______ with rise in temperature. 

A. Increases B. Decreases 

C. Remains unchanged D. None of the above 

31. 

The SI unit of conductivity is  

A. Ohm – m B. Ohm/m 

C. Mho - m D. Mho/m 

32. 

Electrical appliances are connected in parallel because it  

A. Is a simple circuit B. Draws less current 

C. Results in reduced power loss D. Makes the operation of appliance 

independent of  each other 

33. 

When cells are arranged in parallel 

A. The current capacity increase B. The current capacity decrease 

C. The e.m.f. increases D. The e.m.f. decreases 

34. 

When a number of resistances are connected in parallel, the total resistance is  

A. Greater than the smallest 

resistance 

B. Between the smallest and greatest 

resistance  

C. Less than the smallest resistance D. None of the above 

35. 

A wire has a resistance of 12 ohm. It is bent in the form of a circle. The effective 

resistance between the two points on any diameter of the circle is  

A. 6 ohm B. 3 ohm 

C. 12 ohm D. 24 ohm 

36. 
A 200 W and 100 W bulb both meant for operation at 220 V are connected in series. 

When connected to 220 V supply, the power consumed by them is  
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A. 66 W B. 33 W 

C. 100 W D. 300 W 

37. 

An active element in a circuit is one which __________ 

A. Receives energy B. Supplies energy 

C. Both receives and supplies 

energy 

D. None of the above 

38. 

A linear circuit is one whose parameters (e.g. resistances etc.)..... 

A. Changes with change in current B. Change with change in voltage 

C. Do not change with voltage and 

current 

D. None of the above 

39. 

The superposition theorem is used when the circuit contains............. 

A. A single voltage source B. A number of voltage sources 

C. Passive elements only D. None of the above 

40. 

For transfer of maximum power, the relation between load resistance RL and internal 

resistance Ri of the voltage sources is ____________ 

A. RL = 2Ri B. RL = 0.5 Ri 

C. RL = 1.5 Ri D. RL = Ri 

41. 

The maximum power transfer theorem is used in _________ 

A. Electronics circuits B. Power system 

C. Home lighting circuits D. None of the above 

42. 

Thevenin’s theorem is ________ form of an equivalent circuit. 

A. voltage B. Current 

C. Both voltage and current D. None of the above 

43. 

A kilowatt hour is the unit of  

A. Energy  B. Electric charge 

C. Electric current D. Power 

44. 

A heater element in an electric iron make of ________ 

A. Nichrome B. Iron 

C. Tungsten D. Constantan 

45. 

Energy expended or heat generated in joules when a current of I amperes flows 

through a conductor of resistance R ohms for t seconds is given as 

A. I
2
Rt B. I Rt 

C. IR
2
t D. I Rt

2
 

46. 

Which of the following is not equivalent to watts? 

A. amperes x volts B. (amperes)
2
 x ohm 

C. amperes / volt. D. joules per second 

47. 

Which of the following relation is not correct? 

A. 
2

V
P

R
  

B. P = VI 

C. P
I

R
  

D. V PR  

48. 

A 5  resistance having current of 2 A will dissipate the power of 

A. 20 W B. 10 W 

C. 8 W D. 2 W 

49. 

The capacitance of a capacitor is not influenced by 

A. plate thickness B. plate separation 

C. plate area D. nature of dielectric 

50. 
The unit of magnetic flux density is 
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A. Amps /meter
2 

B. Farads /meter
2 

C. Weber /meter
2 

D. Weber /meter 

51. 

Permeability in a magnetic circuit corresponds to ……  in an electric circuit 

A. resistivity B. Conductivity 

C. permittivity D. none of these 

52. 

Permeability is reciprocal of 

A. reluctivity B. Conductivity 

C. permittivity D. Susceptibility 

53. 

The unit of inductance is : 

A. Ohm B. Ohm
-1

 

C. Henry D. Wb / m
2
 

54. 

The energy stored in inductor is given by : 

A. ½ LI
2
 joules B. ½ IL

2
 joules 

C. LI
2
 joules D. none of above of these 

55. 

The force experienced by a small conductor of length l, carrying a current I, placed in a 

magnetic field B at an angle  with respect to B is given by:  

A. Bil B. BIl sin 

C. BIl cos D. Zero 

56. 

The unit of time constant L / R is : 

A. Sec B. H / sec         

C. Ohms / sec D. H-sec 

57. 

If the cross-sectional area of a magnetic field increases, but the flux remains the same, 

the flux density 

A. increases B. Decreases 

C. remains the same D. Doubles 

58. 

The direction of a magnetic field within a magnet is 

A. from south to north B. from north to south 

C. back to front D. front to back 

59. 

The ability of a material to remain magnetized after removal of the magnetizing force 

is known as 

A. permeability B. Reluctance 

C. hysteresis D. Retentivity 

60. 

The branch current method uses 

A. Kirchhoff's voltage and current 

laws 

B. Thevenin's theorem and Ohm's law 

C. Kirchhoff's current law and 

Ohm's law 

D. the superposition theorem and 

Thevenin's theorem 

61. 

When the plate area of a capacitor increases, 

A. the capacitance increases B. the capacitance decreases 

C. the capacitance is unaffected D. the voltage it can withstand increases 
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62. 

Resistivity of a wire depends on 

A. Length B. Material 

C. cross section area D. none of the above 

63. 

Ampere second could be the unit of 

A. Power B. Conductance 

C. Energy D. Charge 

64. 

Two resistances R1 and R2 give combined resistance of 4.5 ohms when in series and 1 

ohm when in parallel. The resistances are 

A. 3 ohms and 6 ohms B. 3 ohms and 9 ohms 

C. 1.5 ohms and 3 ohms D. 1.5 ohms and 0.5 ohms. 

65. 

The resistance of a 100 W, 200 V lamp is 

A. 100 ohm B. 200 ohm 

C. 400 ohm D. 1600 ohm 

66. 

Ohm's law is not applicable to 

A. DC circuits B. high currents 

C. small resistors D. semi-conductors. 

67. 

An ideal voltage source should have 

A. Zero internal resistance B. Large value of emf 

C. Infinite internal resistance D. Low value of current 

68. 

An ideal current source should have 

A. Zero internal resistance B. Large value of emf 

C. Infinite internal resistance D. Low value of current 

69. 

The resistance of a conductor ___________ with the decrease of its diameter. 

A. More B. Less 

C. Equal D. Can’t predict 

70. 

The filament of an electric bulb is made of  

A. Carbon B. Nickel 

C. Tungsten D. Aluminium 

 

************** 

ગજુયાતી 

ન.ં પ્રશ્ન તેભજ વલકલ્઩ 

1. 

જો લામય ની રફંાઇ 4 ઘણી કયલાભા ંઆલે અને વ્માસ ફે ઘણો કયલાભા ંઆલે તો તેનો 

અલયોધ  

A. ચાય ઘણો થામ B. ફે ઘણો થામ 
C. ફદરાળે નહિ D. અડધો થામ 

2. 

1 MΩ =  

A. 10
10 B. 10

9 
C. 10

6 D. 10
3 

3. 

100 W ના રેમ્઩ ને કેટરો સભમ ચાલ ુયાખતા 1 યવુનટ એનજી લમયામ? 

A. 1 B. 10 
C. 100 D. 1000 

4. એક લામય નો અલયોધ 12 ઓહ્મ છે. તેન ેડેલ્ટા ભા ંજોડલા ભા ંઆલે. તો તેના કોઇ ઩ણ 
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ફે ખણુા લચ્ચે નો અસયકાયક અલયોધ  

A. 6 ઓહ્મ B. 2.67 ઓહ્મ 
C. 26.67 ઓહ્મ D. 26 ઓહ્મ 

5. 

1 kWh = _________ કેરેયી 
A. 4186 B. 4.186 
C. 860 D. 30 X 10

5 

6. 

જો ઇરેક્ટ્રિક ફલ્ફનો કયંટ 2% ઘટે તો ઩ાલય      .................. ઘટે. 

A. 1% B. 2% 
C. 4% D. 16% 

7. 

ભેગ્નેટો ભોટીલ પોસસ નો એકભ ....... છે. 
A. લેફય B. એમ્મ્઩મય/ભીટય 
C. િને્રી D. એમ્મ્઩મય-ટનસ 

8. 

કે઩ેસીટયના ચાજીગ ંઅન ેડીસ ચાજીગ ંસભ઩ે નીચેના ભાથંી કઈ કોની ઩ોરાયીટી સભાન 
યિ ેછે?  
A. કે઩ેસીટય લોલ્ટેજ  B. યેઝીસ્ટીલ ડ્રો઩ 
C. કે઩ેસીટય કયંટ  D. ઉ઩યના ભાથંી કોઇ નહિ 

9. 

કે઩ેસીટયન ુકે઩ેસીટંસ  હયરેટીલ ઩યવભટીલીટી _______________. 

A. ને સભ પ્રભાણ ભા ંચરે છે B. થી સ્લતતં્ર છે. 
C. ને વ્મસ્ત પ્રભાણ ભા ંચરે છે. D. ના લગસ ને સભ પ્રભાણ ભા ંચરે છે 

10. 

િીસ્ટેયીસીસ લ઩ુનુ ંક્ષેત્રપ઱  ......................... 

A. ભાત્ર િીસ્ટેયીસીસ રોસ દળાસલે છે B. ભાત્ર એડી કયંટ રોસ દળાસલે છે 
C. િીસ્ટેયીસીસ અને એડી કયંટ 

રોસ દળાસલે છે. 

D. જેભ ઓછ ંતેભ રોસ લધાયે 

11. 

ઉચ્ચ કે઩ેસીટંસ પ્રાપ્ત કયલાની સૌથી સય઱ યીત .............. છે. 

A. ભલ્ટીપ્રેટ  B. પ્રેટ લચ્ચે ન ુઅંતય ઘટાડવ ુતે  
C. ડામઇરેરિીક તયીકે િલા 

લા઩યલી ત ે

D. ઓછી ઩યભીટીલીટી લા઱ા ડામઇરેરિીક 
લા઩યવ ુતે  

12. 

કે઩ેસીટય ................. ને અલયોધે છે.  

A. કયંટના ફદરાલ  B. કયંટ અને લોલ્ટેજના ફદરાલ 

C. લોલ્ટેજના ફદરાલ D. કયંટ અથલા લોલ્ટેજના ફદરાલ 

13. 
સભાતંય પ્રેટ કે઩ેસીટય ન ુકે઩ેસીટંસ નીચેના ભાથંી કોની ઉ઩ય આધાય યાખત ુનથી?  
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A. પ્રેટ ન ુકે્ષત્રપ઱ B. પ્રેટ લચ્ચે નુ ંઅંતય 

C. પ્રેટ લચ્ચેન ુભીડીમભ D. પ્રેટની ધાત ુ

14. 

ન્યટુન/કુરફં એ ............... નો એકભ છે. 

A. ઇરેરિીક ચા  B. ઇરેરિીક ્રક્ષ 

C. ઇરેરિીક ્રક્ષ ડેન્સીટી D. ઇરેરિીક હપલ્ડ ંસટટસીટી 

15. 

જ્માયે R-C સયકીટને અચાનક ડી.સી. લોલ્ટેજ સોસસ સાથે જોડલા ભા ં આલે ત્માયે, 

ળરુઆત નો કે઩ેસીટય કયંટ ના ફદરાલ નો દય ............. છે.  

A. -Io /  B. Io /  

C. V/R D. –V /  

16. 

D અન ેE લચ્ચે નો સફંધં વનચેના સતુ્ર દ્વાયા દળાસલા ભા ંઆલે છે.  
A. D= o r E B. E= D/ o r 

C. E= o r D D. A અને B ફને્ન  

17. 

એક લાિક ભાથંી 4.8 A પ્રલાિ ઩સાય થામ છે. તો એક સેકંડ ભા ંકેટરા ઇરેકિોન ઩સાય 

થામ છે?  

A. 3 x 10
19

 ઇરેકિોન B. 76.8 x 10
20

 ઇરેકિોન 

C. 7.68 x 10
20

 ઇરેકિોન D. 3 x 10
20

 ઇરેકિોન 

18. 

ફે ફલ્ફ એક 25 W, 220 V અને ફીજુ 100 W, 220 V ફલ્ફ સભાતંયભા ં 220 V સાથ ે

જોડેર છે. ફને્ન ફલ્ફભાથંી કમો ફલ્ફ લધ ુપ્રકવળત થળે?   

A. 25 W B. ફને્ન  
C. 100 W D. એક ઩ણ નહિ. 

19. 

ફે અલયોધ A અને B નો અલયોધ અનકુ્રભે RA અન ેRB િોમ અને RA< RB િોમ અને 
તેની અલયોધકતા ρA અને ρB. િોમ તો, 
A. ρA > ρB B. ρA = ρB 

C. ρA < ρB D. Information insufficient 

20. 

ત્રણ ફલ્ફ 25 W, 40 W, અને 60 W ભાથંી કમા ફલ્ફ નો અલયોધ સૌથી ઓછો િોમ છે? 

A. 25 W B. 60 W 

C. 40 W D. Information incomplete 

21. 

એય કે઩ેસીટય ના ભા઩ ભામકા કે઩ેસીટય જેટરા છે. જો ભામકા ન ુકે઩ેસીટંસ એય કયતા 

6 ઘણ ુિોમ તો ભામકા ની યીરેટીલ ઩યવભટીલીટી ......... િોમ. 

A. 36 B. 12 

C. 3 D. 6 

22. સભાતંય જોડેર 3 ઓહ્મ અને 6 ઓહ્મ ના અલયોધ ને 8 ઓહ્મ ના અલયોધ સાથે શ્રેણી ભા ં
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જોડેર છે. જો 60 V નો સપ્રામ આ સયકીટ સાથે જોડેર િોમ તો 3 ઓહ્મ ના 

અલયોધભાથંી કેટરો પ્રલાિ ઩સાય થામ?  

A. 6A B. 2A 

C. 4A D. 10A 

23. 

સયખી રફંાઇ ના અને 20 ઓહ્મ ના ચાય લામય ને ચોયસ ભા ંજોડેરા છે. સાભ સાભા ફે 
ખણુા લચ્ચે નો સભતલુ્મ અલયોધ  ________ થામ. 

A. 10 B. 40 

C. 20 D. 20/4 

24. 

20 V, 4 Ω ધયાલતા લોલ્ટેજ સોસસ નો સભતલુ્મ કયંટ સોસસ ...... થામ.  
A. 20 A, 2 Ω B. 20 A, 4 Ω 

C. 5 A, 4 Ω D. 5 A, 2 Ω 

25. 

એક ભાણસ ઩ાસે 1/3 ઓહ્મ ના ત્રણ અલયોધ છે. આ ત્રણે અલયોધ નો ઉ઩મોગ કયીને 
ઓછા ભા ંઓછો કેટરો સભતલુ્મ અલયોધ ભે઱લી ળકામ? 

A. 1 ઓહ્મ B. 1/6 ઓહ્મ 

C. 3 ઓહ્મ D. 1/9 ઓહ્મ 

26. 

ત્રણ 3 ઓહ્મ ના અલયોધો ને સભાન ફાજુ વત્રકોણ ના રુ઩ ભા ંજોડલાભા ંઆલેર છે. તો  

કોઇ ઩ણ ફે ખણુા લચ્ચે નો સભતલુ્મ અલયોધ ............ ઓહ્મ થામ.  

A. 2 ઓહ્મ B. 3 ઓહ્મ 

C. 6 ઓહ્મ D. 4/3 ઓહ્મ 

27. 

ઇ.એભ.એપ.ને કાયણે સયકીટ ભા ં 
A. અલયોધ લધે છે.  B. અલયોધ ઘટે છે. 
C. ઩ોટટળીમર હડપયટસ જ઱લામ છે. D. ઉ઩યોરત વલકલ્઩ ભાથંી એક ઩ણ નહિ. 

28. 

઩ોટટળીમર હડપયટસ નો  એકભ...... છે. 
A. ચા  B. ઩ાલય 

C. એનજી D. ઉ઩યોરત વલકલ્઩ ભાથંી એક ઩ણ નહિ 

29. 

કંડરટીલીટી ............ ન ુવ્મસ્ત છે.   
A. કયંટ ડટસીટી B. અલયોધ 

C. અલયોધરતા D. ઉ઩યોરત વલકલ્઩ ભાથંી એક ઩ણ નહિ 

30. 

ધાતનુા લાિક ન ુવલવળષ્ઠ પ્રવતયોધ તા઩ભાન લધતા  _______ . 

A. લધે છે. B. ઘટે છે. 
C. અચ઱ યિ ેછે. D. ઉ઩યોરત વલકલ્઩ ભાથંી એક ઩ણ નહિ 

31. 

કંડરટીલીટી ન ુSI યનુીટ  
A. ઓહ્મ – ભીટય B. ઓહ્મ/ભીટય 

C. મ્િો – ભીટય D. મ્િો/ભીટય 
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32. 

ઇરેરિીક સાધનો િભેંળા સભાતંય ભા ંજોડલાભા ંઆલે છે. કાયણ કે,   
A. સયકીટ સય઱ યિ.ે B. ઓછો કયંટ રે છે. 
C. ઩ાલય વ્મમ ઓછો થામ છે. D. દયેક સાધનો ન ુસચંારન સ્લતતં્ર થામ 

છે. 

33. 

જ્માયે સેર ને સભાતંય ભા ંજોડલા ભા ંઆલે ત્માયે........ 
A. કયંટ કે઩ેસીટી લધે છે. B. કયંટ કે઩ેસીટી ઘટે છે 

C. ઇ.એભ.એપ. લધે છે. D. ઇ.એભ.એપ. ઘટે છે. 

34. 

ઘણા ફધા અલયોધો ને સભાતંય ભા ંજોડતા કુર અલયોધ   
A. નાના ભા ંનાના અલયોધ કયતા 

લધાયે થામ  

B. નાના ભા ંનાના અને ભોટા ભોટા અલયોધ 
ની લચ્ચે થામ.  

C. નાના ભા ંનાના અલયોધ કયતા 
નાન ુથામ 

D. ઉ઩યોરત વલકલ્઩ ભાથંી એક ઩ણ નહિ 

35. 

એક લામયનો અલયોધ 12 ઓહ્મ છે. તેન ુલત ુસ઱ કયલાભા ંઆલે છે. આ લતુસ઱ ના કોઇ 
઩ણ વ્માસ ના ફે બફિંદુઓ લચ્ચે નો સભતલુ્મ અલયોધ .......... થામ.  
A. 6 ઓહ્મ B. 3 ઓહ્મ 

C. 12 ઓહ્મ D. 24 ઓહ્મ 

36. 

200 W અને 100 W ના ફન્ને ફલ્ફ ને 220 V ઩ય ચરાલલા ભાટે ફનાલલાભા ંઆવ્મા 
છે. જેને 220 V ના સપ્રામ સાથે શે્રણી ભા ંજોડલા ભા ંઆલે ત્માયે તેભના દ્વાયા લ઩યાતો 
઩ાલય ............... થામ.   
A. 66 W B. 33 W 

C. 100 W D. 300 W 

37. 

સયકીટભા ંએકટીલ એબરભેંટ  __________ 

A. એનજી ભે઱લે છે. B. એનજી આ઩ે છે. 
C. એનજી ભે઱લે અને આ઩ે છે D. ઉ઩યોરત વલકલ્઩ ભાથંી એક ઩ણ નહિ 

38. 

રીનીમય સયકીટ એટરે એ કે જેના ઩ેયાભીટય (દા.ત. અલયોધ લગેયે)............ 

A. પ્રલાિ સાથે ફદરામ છે. B. લોલ્ટેજ સાથે ફદરામ છે. 
C. પ્રલાિ કે લોલ્ટેજ સાથે ફદરાત ુ

નથી. 

D. ઉ઩યોરત વલકલ્઩ ભાથંી એક ઩ણ નહિ 

39. 

સ઩ુય ઩ોઝીળન થીમેયભ ત્માયે લા઩યલાભા ંઆલે છે જ્માયે સયકીટ ભા.ં......... 
A. એક લોલ્ટેજ સોસસ િોમ. B. ઘણા લોલ્ટેજ સોસસ િોમ. 
C. ઩ેસીલ એરીભેંટ િોમ. D. ઉ઩યોરત વલકલ્઩ ભાથંી એક ઩ણ નહિ 

40. 

ભિત્તભ ઩ાલય િાસંપય ભાટે, રોડ અલયોધ RL અને લોલ્ટેજ સોસસ ના ંસટનસર અલયોધ Ri 

લચ્ચે નો સફંધં  ____________ િોવ ુજોઇમે.  
A. RL = 2Ri B. RL = 0.5 Ri 

C. RL = 1.5 Ri D. RL = Ri 
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41. 

ભિત્તભ ઩ાલય િાસંપય થીમેયભ _________ભા ંલ઩યામ છે. 
A. ઇરેરિોનીક સયકીટ B. ઩ાલય સીસટભ  
C. ઘયની રાઇટીંગ સયકીટ D. ઉ઩યોરત વલકલ્઩ ભાથંી એક ઩ણ નહિ 

42. 

થેલેનીન થીમયભ  ________ ની સભતલુ્મ સયકીટ છે. 
A. લોલ્ટેજ B. કયંટ 

C. લોલ્ટેજ અને કયંટ D. ઉ઩યોરત વલકલ્઩ ભાથંી એક ઩ણ નહિ 

43. 

હકરોલોટ િલય      ...................... નો એકભ છે. 
A. એનજી B. ઈરેરિીક ચા   
C. ઈરેરિીક કયંટ  D. ઩ાલય 

44. 

ઈરેરિીક આમન ભા ંલ઩યાત ુહિટય એરીભેંટ _______ ન ુફનેલ ુિોમ છે. 
A. નાઈક્રોભ B. આમન 

C. ટંગસ્ટન D. કોંસટંટેન 

45. 

જમાયે R ઓહ્મ લા઱ા લાિકભાથંી t સભમ ભાટે I એમ્઩ીમય કયંટ ઩સાય થામ ત્માયે 

જુરભા ંએનજી નો લ઩યાસ અથલા ઉષ્ભા ઉત્સ ન .............દ્વાયા દળાસલી ળકામ. 

A. I
2
Rt B. I Rt 

C. IR
2
t D. I Rt

2
 

46. 

નીચેનાભાથંી કય ુલૉટ ફયાફય ના થામ?  

A. એમ્઩ીમય x લોલ્ટ B. (એમ્઩ીમય)
2
 x ઓહ્મ 

C. એમ્઩ીમય / લોલ્ટ D. જુલ્સ પ્રવત સેકંડ 

47. 

વનચેનાભાથંી કય ુસતુ્ર સાચ ુનથી? 

A. 
2

V
P

R
  

B. P = VI 

C. P
I

R
  

D. V PR  

48. 

5  અલયોધ ભાથંી 2 A પ્રલાિ ઩સાય થામ ત્માયે ............. ઩ાલય ઉત્સજીત થામ. 

A. 20 W B. 10 W 

C. 8 W D. 2 W 

49. 

કે઩ેસીટય ન ુકે઩ેસીટંસ ................. થી પ્રબાલીત થત ુનથી. 

A. પ્રેટની જાડાઇ B. પ્રેટ લચ્ચેન ુઅંતય  
C. પ્રેટન ુકે્ષત્રપ઱ D. ડાઈ-ઇરેરિીક 

50. 

ભેગ્નેટીક ્રક્ષ ડટસીટી નો એકભ ............ છે. 

A. એમ્઩ીમય /ભીટય2 B. પેયાડ/ ભીટય2 

C. લેફય / ભીટય2 D. લેફય / ભીટય 
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51. 

ભેગ્નેટીક સયકીટ ભા ં઩યભીમેફીરીટી એ ઇરેરિીક સયકીટ ભા ં ……  ફયાફય થામ. 

A. અલયોધરતા B. કંડકટીલીટી 
C. ઩યભીટીલીટી D. ઉ઩યોરત વલકલ્઩ ભાથંી એક ઩ણ નહિ 

52. 

઩યભીમેફીરીટી ............ ન ુવ્મસ્ત છે.  

A. યીરટીલીટી B. કંડકટીલીટી 
C. ઩યભીટીલીટી D. સસ્કેપ્ટીફીરીટી 

53. 

ંસડરટંસનો એકભ ............... છે. 

A. ઓહ્મ B. ઓહ્મ-1 

C. િટયી D. લેફય/ભીટય2 

54. 

ંસડકટયભા ંસગં્રિીત ઉજાસન ુસતુ્ર ................. દ્વાયા દળાસલામ છે.  

A. ½ LI
2
 જુલ્સ B. ½ IL

2
 જુલ્સ 

C. LI
2
 જુલ્સ D. ઉ઩યોરત વલકલ્઩ ભાથંી એક ઩ણ નહિ 

55. 

ભેગ્નેટીક હપલ્ડ B ભા ં ખણુાથી મકેુરા, l રફંાઇ અને I પ્રલાિ ધયાલતા, લાિક ઩ય 

રાગતા ફ઱ન ુસતુ્ર વનચે મજુફ આ઩ી ળકામ.  

A. Bil B. BIl sin 

C. BIl cos D. શનુ્મ  

56. 

ટાઇભ કોંસ્ટંટ L / R નો એકભ વનચે મજુફ આ઩ી ળકામ. 

A. સેકંડ B. H / સેકંડ         

C. ઓહ્મ / સેકંડ D. H-સેકંડ 

57. 

જો ભેગ્નેટીક હપલ્ડન ુઆડછેદન ુકે્ષત્રપ઱ લધાયલાભા ંઆલે ઩યંત ુ્રક્ષ સભાન યાખલાભા ં

આલે તો ્રક્ષ ડટસીટી............. 

A. લધે B. ઘટે 

C. સભાન યિ ે D. ફભણી થામ. 

58. 

ભેગ્નેટભા ંભેગ્નેટીક હપલ્ડની હદળા...............િોમ છે. 

A. દબક્ષણથી ઉત્તય  B. ઉત્તયથી દબક્ષણ  
C. ઩ાછ઱થી આગ઱ D. આગ઱થી ઩ાછ઱ 
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59. 

ભેગ્નેટાઈઝીંગ પોસસ નીકાળ્મા ફાદ ઩ણ ઩દાથસ ની ભેગ્નેટાઈઝ યિલેાની ક્ષભતા ને 
....................... કિલેામ છે.  
A. ઩યવભમેફીરીટી B. યીરરટંસ  
C. િીસ્ટેયીસીસ D. યીટટટીલીટી  

60. 

બ્ાચં કયંટ ભેથડ ભા ં.............................. લ઩યામ છે. 

A. હકચોપ નો લોલ્ટેજ અને કયંટ નો 
વનમભ 

B. થેલેનીન થીમયભ અને ઓહ્મ નો વનમભ 

C. હકચોપ નો કયંટ નો વનમભ અને 
ઓહ્મ નો વનમભ 

D. સ઩ુય ઩ોઝીળન થીમયભ અને થેલેનીન 
થીમયભ 

61. 

કે઩ેસીટયના પ્રેટ નો એયીમા લધાયતા ................ 

A. કે઩ેસીટંન્સ લધે છે. B. કે઩ેસીટંન્સ ઘટે છે. 
C. કે઩ેસીટંન્સ ફદરાળે નહિ. D. લોલ્ટેજ સિન કયલાની ક્ષભતા લધે છે. 

62. 

લામયની યેઝીસટીલીટી ............... ઩ય આધાય યાખે છે.  
A. રફંાઇ  B. ભટેયીમર 

C. આડછેદન ુક્ષેત્રપ઱ D. ઉ઩યોરત વલકલ્઩ ભાથંી એક ઩ણ નહિ 

63. 

એમ્઩ીમય સેકંડ  ................ નો એકભ છે. 
A. ઩ાલય B. કંડરટંન્સ  
C. એનજી D. ચા  

64. 

ફે અલયોધો R1 અને R2 ને શ્રેણીભા ંજોડતા 4.5 ઓહ્મ અને સભાતંયભા ંજોડતા 1 ઓહ્મ 
અલયોધ ભ઱ે તો અલયોધોન ુમલુ્મ  
A. 3 ઓહ્મ અને 6 ઓહ્મ B. 3 ઓહ્મ અને 9 ઓહ્મ 

C. 1.5 ઓહ્મ અને 3 ઓહ્મ D. 1.5 ઓહ્મ અને 0.5 ઓહ્મ. 

65. 

100 W, 200 V રેમ્઩ નો અલયોધ  
A. 100 ઓહ્મ B. 200 ઓહ્મ 

C. 400 ઓહ્મ D. 1600 ઓહ્મ 

66. 

ઓહ્મનો વનમભ ............... ને રાગ ુ઩ડત ુનથી. 
A. ડી.સી. સયકીટ B. િાઇ કયંટ  
C. નાના અલયોધ D. સેભી – કયંટ 

67. 

આદળસ લોલ્ટેજ ને ..............................િોમ છે. 

A. શનુ્મ આંતયીક અલયોધ B. લધ ુઇ.એભ.એપ.  
C. અનતં આંતયીક અલયોધ D. ઓછો પ્રલાિ 
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68. 

આદળસ કયંટ સોસસ ને ....................... િોમ છે. 

A. શનુ્મ આંતયીક અલયોધ B. લધ ુઇ.એભ.એપ.  
C. અનતં આંતયીક અલયોધ D. ઓછો પ્રલાિ 

69. 

લાિક નો વ્માસ ઘટતા, અલયોધ ___________ . 

A. લધે  B. ઘટે 

C. સભાન યિ ે D. કિી ના ળકામ 

70. 

ઇરેકિીક ફલ્ફન ુહપરાભેંટ .................. ન ુિોમ છે. 

A. કાફસન B. નીકર 

C. ટંગસ્ટન D. એલ્યવુભનીમભ 

 

************** 


